ERASMUS+ YABANCI DIiL SINAVI (INGILIiZCE) ORNEK SORULARI
Bosluklar1 uygun sekilde tamamlayan ifadeyi isaretleyiniz.

1. A: How often you your teeth?

B: Twice a week
a. do / brush
b. did / brushed
c. are / brushing
d. will / brush
2. A: What does your brother do?
B: My brother is a manager He for a large company
a. is working
b. works
c. has worked

d. has been working

3. Before they are allowed to be used, all medicines, including vaccines, are ---- tested to assess how safe
and effective they are.

a) incidentally b) hazardously c¢) thoroughly d) fatally

4. We raised over 200 dollars for but we need more Money to build a house for poor people.

A) job

B) resolution
C) record

D) charity

E) membership

Verilen ciimlenin Tiirkce cevirisi hangi secenekte verilmistir.

5. A balanced diet containing correct amounts of the basic food substances is essential, but there is no
evidence that when, or at what intervals, one eats makes the slightest difference.

a) Dengeli beslenmenin temel gida maddelerini yeterli miktarda icermesi sarttir, ancak ne zaman ve hangi
araliklarla yemek yenildiginin bu hususta herhangi bir fark yaratmadigi kanitlanmistir.

b) Dengeli beslenmede dogru miktarda bulunmasi sart olan temel gida maddelerinin ne zaman ve hangi
araliklarla yenmesi gerektigine iliskin en ufak bir kanit bulunamamustir.



c) Temel gida maddelerini dogru miktarlarda iceren dengeli bir beslenme esastir, ancak ne zaman veya
hangi araliklarla yemek yenildiginin en ufak bir fark olusturduguna iliskin kanit bulunmamaktadir.

d) Dengeli olmasi i¢in beslenmenin temel gida maddelerini dogru oranlarda igermesi dnemlidir, ancak
yemegin ne zaman veya hangi araliklarla yenmesi gerektigi konusunda en ufak bir kanit heniiz yoktur.

Verilen ciimlenin ingilizce ¢evirisi hangi secenekte verilmistir.

6. Okyanus sularinin 1sinarak genislemesi ve buzullarin artan bir hizla erimesi nedeniyle, 2100 yilina
kadar deniz seviyelerinin yaklagik yarim metre yiikselmesi muhtemeldir.

a) Sea levels are expected to rise by roughly half a metre by the year 2100 if thermal expansion continues
and the glaciers continue to melt at the same speed.

b) Due to the thermal expansion of ocean water and the constant melting of glaciers, it seems likely that
sea levels will have risen by at least half a metre by the year 2100.

c) With the thermal expansion of ocean water and the rapid melting of glaciers it seems that sea levels are
set to rise by up to half a metre by the year 2100.

d) Because of the thermal expansion of ocean water and the accelerated melting of glaciers, sea levels are
likely to rise by approximately half a metre by the year 2100.

Sorular verilen metne gore cevaplayimz.

Nowadays, in England, tea is quite the most popular, and also the

cheapest, of all drinks. People drink their tea in different ways. Some like it
with sugar, some without. Some drink it with milk, some with lemon; yet,
one way or another just about everyone drinks tea. This, however, has not
always been the case. During the last century, when tea was very expensive,
it was kept locked up, and the lady of the house had the key. Tea drinking
then was quite a ceremony, reserved for the evenings. At breakfast everyone
drank beer!

7. Compared with the past, in England today .

A) more and more people prefer tea to beer.

B) tea is regarded as a luxury.

C) tea is very cheap and commonly available.

D) sugar is becoming less and less popular.

E) people don’t care about the quality of tea.



8. Karsihkl konusmayi en uygun sekilde tamamlayan ifadeyi seciniz.

Aydimn: How long will it take me to get to the station?

Meral : About half an hour.

Aydin:

Meral : There won't be much so late at night.

A) Does the train leave at midnight?

B) Haven't you packed your suitcase yet?

C) Shall I call a taxi?

D) What if there is a lot of traffic?

E) Will the train be crowded?

Verilen ciimleye anlamca en yakin olan ciimleyi seciniz.

9. I managed to get a visa, but it was difficult as I don’t know English very well.
A) Ididn’t fail to get a visa, but it was not easy because I am not sufficient in English.
B) To get a visa is quite difficult as most people are required to speak English fluently.
C) Ihadn’t any trouble getting a visa as I passed the English exam.

D) Ineed to improve my English to get a visa without any problem.

E) 1was likely to get a visa but [ couldn’t.

Verilen paragrafta anlam biitiinliigiinii bozan ciimleyi se¢iniz.
10. (I) Before Galileo, it was thought that a lifeless body would not move of
itself. (II) It was further believed that such a body, once in motion
would gradually come to rest. (III) Experimental science was not even
permitted during the Middle Ages. (IV) But Galileo and Newton proved
that all the movements of the planets proceed according to the laws
of physics. (V) And that once they are set in motion, they will continue
indefinitely.
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